Example {2t Binary system acetonitrile(1)/nitromethane(2) conforms closely
to Raoult’s law. Vapor pressures for the pure species are given by the following

AAHEoi eutions: Chemica Engineering Dept.,

2,945.47 KFUPM, CHE303, Handout_9, VLE

In P** /kPa = 14.2724 —
T — 495

2,972.64
T—-¢e4-|5

(a) Prepare a graph showing P vs. z; and P vs. y; for a temperature of 75°C.

In P,°** /kPa = 14.2043 —

(b) Prepare a graph showing t vs. z; and t vs. y; for a pressure of 70 kPa.
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Figure
Raoult’s law.

|

SZ 424X,
(4;43 23 ’ﬁ}

I (731 P/kPa.
0.0 0.0 41.98
0.2 03313  50.23
0.4 0.5692 58.47
0.6 0.7483 66.72
0.8 0.8880 74.96
1.0 1.0 83.21

0r t=mec

80 %

Subcooled

liquid

|
I
40 P=gi I 1
|
Superheated |
vapor |
I
20 | 1 | |
0 0.2 0.4 0.6 0.8
Ila h

1.0

See eg . @

PP =83.21

Pzy diagram for acetonitrile(1)/nitromethane(2) at 75°C as given by
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Figure tzy diagram for acetonitrile(1)/nitromethane(2) at 70 kPa as given by

Raoult’s law.





